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0.0023

0.0069

0.0206

Diphenyleneiodonium chloride

0.0617

0.1851
concentration index

0.5554

1.6662

4.9985

14.9954

p=3.4e-01 p=7.9e—01 p=1.8e-01 p=2.6e-01 p=1.7e-01 p=2.7e-01 p=6.3e-01 p=8.3e—-01 p=5.7e-01

0.0023

p=8.1e-01 p=9.7e-01 p=9.0e-P1 p=8.9e-P1 p=2.9e~

0.0023

0.0069 0.0206

0.0069 0.0206

0.0617

0.0617

0.1851
concentration index

Doramapimod

0.1851

0.5554

0.5554
concentration index

1.6662

1.6662

4.9985

4.9985

..EH_

14.9954

01 p=7.2e-01 p=9.2e—P1 p=6.3e-01 p=4.9e-01

14.9954

1.0
ddx3x P
mutated '-cau
= wt B
0.5
0.0
1.0
ddx3x P
mutated '-cau
= wt B
0.5
0.0
1.0
ddx3x P
mutated '-cau
= wt B
0.5
0.0

p=8.3e-01 p=8.0e—-01 p=1.8e-01 p=7.6e-01 p=9.7e-01 p=7.9e-01 p=7.2e-01 p=7.8e—01 p=7.6e-01

0.0023

p=7.9e-01 p=8.7e—-01 p=7.3e-01 p=4.2e-01 p=7.5e-01 p=6.7e-01 p=6.5e-01 p=5.3e-01 p=4.4e-02

0.0023

p=7.5e-01 p=9.6e—-01 p=2.9e-01 p=9.6e-01 p=8.4e-01 p=6.2e-01 p=8.2e-01 p=7.9e-01 p=5.4e-0P1

0.0023

0.0069

0.0069

f

0.0069

0.0206

0.0206

f

0.0206

Dinaciclib

S R S N R

0.0617 0.1851

0.5554

concentration index

Docetaxel

0.0617 0.1851

0.5554

concentration index

Dorsomorphin

0.0617 0.1851

0.5554

concentration index

1.6662

1.6662

1.6662

4.9985

4.9985

4.9985

14.9954

14.9954

14.9954

ddx3x

mutated

= wt

ddx3x

mutated

= wt

ddx3x

mutated

= wt



viability

O
ol

0.0+

0.0023 0.0069

1.0' °

viability

O
ol

0.0-

0.0023 0.0069

1.01

viability

O
ol

0.0-

0.0023 0.0069

0.0206

0.0206

0.0206

0.0617
concentration index

0.0617

0.0617

Dovitinib

0.1851 0.5554 1.6662

Duvelisib

0.1851 0.5554
concentration index

1.6662

EHop—-016

0.1851 0.5554
concentration index

1.6662

4.9985

4.9985

4.9985

p=6.9e-01 p=9.7e-01 p=5.3e-01 p=4.1e-01 p=5.3e-01 p=4.2e-01 p=7.0e-01 p=6.8e-01 p=2.9e-01

14.9954

p=4.2e-01 p=3.9e-01 p=5.3e-P1 p=3.0e-01 p=2.4e-01 p=1.8e-01 p=8.2e-01 p=5.9e-01 p=6.0e-01

14.9954

p=7.1le-01 p=3.1e-01 p=3.8e-01 p=6.0e-P1 p=6.5e-01 p=8.8e-01 p=9.4e-P1 p=8.9e-01 p=7.2e-01
s

14.9954

ddx3x

mutated

= wt

ddx3x

mutated

= wt

ddx3x

mutated

= wt

viability

viability

viability

1.01

O
ol

0.0-

1.01

O
ol

0.0-

1.01

O
ol

0.0-

Doxorubicin

p=2.1e-01 p=2.2e-01 p=1.5e-01 p=8.0e-03 p=2.1e-01 p=8.2e-01 p=5.2e-01 p=6.3e—-01 p=8.0e-01

N

i

1
1
i

0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

0.0023 0.0069 0.0206

Ebselen

p=7.0e-01 p=7.3e—01 p=6.9e-01 p=4.3e-01 p=5.9e-01 p=7.3e-01 p=6.6e-01 p=8.1e—01 p=6.0e-02

+

14.9954

0.0617 0.1851 0.5554 1.6662 4.9985

concentration index

0.0023 0.0069 0.0206

EHT 1864

p=6.6e—~01 p=8.6e—-01 p=8.8e-01 p:9.0e—°01 p=9.2e-01 p=9.4e-01 p=7.6e-01 p:6.2e—b1 p=6.6e-01

. $ : : : —HH E . .
: : . I : .
° L] : ° ] °
. i
0.0023 0.0069 0.0206 0.0617 0.1851 05554 1.6662 4.9985 14.9954

concentration index

ddx3x
mutated

= wt

ddx3x
mutated

= wt

ddx3x
mutated

= wt



1.01

viability

O
ol

0.0+

1.01

viability

O
ol

0.0-

1.01

viability

O
ol

0.0-

Elesclomol

p=1.3e-01 p=2.7e—-01 p=9.8e-01 p=2.3e-01 p=5.5e-01 p=5.1e-01 p=3.7e-01 p=8.1e—-01 p=5.7e-01

0.0023

p=7.4e—01 p=3.4e-P1 p=3.8e-P1 p=9.3e-01 p=7.5e-01 p=9.6e-01 p=5.0e-P2 p=3.2e-01 p=3.3e

SRR

0.0023

0.0069

0.0069

0.0206

0.0206

0.0617 0.1851 0.5554
concentration index

Encorafenib

0.0617 0.1851 0.5554
concentration index

Entospletinib

! EEQEEig:

1.6662

1.6662

-

4.9985

4.9985

+

14.9954

1

|

14.9954

S G v

p=4.5e-01 p=6.1e—-01 p=3.8e-01 p=7.9e-01 p=9.5e-01 p=5.3e-01 p=8.3e-01 p=4.9e-02 p=3.4e-01

EFE‘HE!HEIE L

0.0023

0.0069

0.0206

0.0617 0.1851 0.5554
concentration index

1.6662

aEiEgEiE

4.9985

14.9954

ddx3x
mutated

= wt

ddx3x
mutated

= wt

ddx3x
mutated

= wt

1.01

viability

O
ol

0.0-

viability

viability

1.01

O
ol

0.0-

1.01

O
ol

0.0-

p=9.7e-01 p=5.1e-01 p=5.7e-01 p=4.2e-01 p=6.6e-01 p=6.0e-01 p=5.5e-01 p=2.5e

0.0023 0.0069 0.0206

p=1.4e-01 p=2.1e-01 p=1.6e-01 p=9.8e-P2 p=6.4e

0.0023 0.0069 0.0206

p=1.7e-01 p=2.6e—-02 p=7.3e-01 p=6.5e-01 p=4.2e-01 p=8.1e-01 p=4.4e-01 p=7.6e—01 p=9.7e-01

EIEEIEEIEEIEEE

0.0023 0.0069 0.0206

Embelin

E'ﬂ

0.0617 0.1851 0.5554
concentration index

Entinostat

0.0617 0.1851 0.5554
concentration index

Enzastaurin

0.0617 0.1851 0.5554
concentration index

1.6662

1.6662

1.6662

4.9985

4.9985

4.9985

-01 p=4.5e-02

14.9954

-02 p=7.7e-01 p=8.4e-01 p=6.0e-01 p=3.8e-01

14.9954

14.9954

ddx3x
mutated

= wt

ddx3x

mutated

= wt

ddx3x

mutated

= wt



1.01

viability

O
ol

0.0+

1.01

viability

O
ol

0.0-

1.01

viability

O
ol

0.0-

EPZ-5676

p=3.3e-01 p=7.1e-01 p:5.7e—b1 p=6.6e—01 p=9.9e-01 p=8.6e-01 p=9.4e-01 p=6.2e-P1 p=9.7e{1
) H

) . ddx3x
. ) ! mutated
= wt
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index
Erismodegib

p=4.3e-01 p=5.8e-01 p=6.0e-01 p=8.8e-01 p=9.7e-01 p=5.2e-01 p=6.7e-01 p=6.6e—01 p=2.5e01

14 ° : ' . ° : ;
: ! . J = = ; ‘
' : : S ddx3x
. . . . mutated
) . = owt
8
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

Erlotinib

p=8.9e-02 p=1.2e-01 p=2.9e-01 p=7.2e-01 p=8.9e-01 p=9.6e-P1 p=6.5eP1 p=2.8eP1 p=74
S . . ’

. ) . ddx3x
* mutated
= wt
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

viability

viability

viability

1.01

O
ol

0.0-

1.01

O
ol

0.0-

1.01

O
ol

0.0-

EPZ-6438

p=7.5e-01 p=9.8e-01 p=6.5e-01 p=8.8e—-01 p=5.0e-01 p:5.8e—.01 p:8.1e—pl p=8.2e-01 p=8.5e-01

: . s ! * )
: ! . i ' i . .
) 3 ?
' y . . ddx3x
. * - * mutated
. = wt
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

ERK5-IN-1

p=8.5e-01 p=5.0e-01 p=8.8e-P1 p=6.1e-01 p=4.4e-01 p=5.8e-01 p=2.3e-901 p=8.0e—-01 p=8.0e-01

febopetadig,

. ) . ddx3x
* ° | . mutated
. . = wt
0.0023 0.0069 0.0206 0.0617 0.1851 05554 1.6662 4.9985 14.9954

concentration index

Etoposide

p=4.4e-01 p=5.0e-01 p=8.6e-01 p=8.5e-01 p=5.4e-01 p=3.6e-01 p=8.5e-01 p=7.8e-01 p=3.9e-01

{ ] ) . 4
) o ?
. ! : : . °
: R A ddx3x
. : O . mutated
. ‘ i i E wt
* i
:
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index



1.01

viability

O
ol

0.0+

Everolimus

p=4.9e-01 p=2.9e-01 p=4.7e-01 p=2.4e-01 p=4.5e-01 p=1.8e-01 p:4.1e—pl p=7.6e~01 p=5.9e-01

: : _{_

0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

0.0023 0.0069 0.0206

EW-7197

1.01

p=8.5e-01 p:5.5e—b1 p=8.2e—-01 p=4.7e-01 p:6.6e—pl p=8.8e-01 p=8.6e-01 p=4.9e-01 p=1.5e-01

viability

O
ol

0.0-

1.01

viability

O
ol

0.0-

.+}+..

0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

0.0023 0.0069 0.0206

Filgotinib
p:3.1e—.01 p=1.7e-D1 p=4.9e-D2 p=1.3e-01 p=1.4e-01 p:1.4e—p1 p=4.8e-01 p=2.4e-01 p=1.4e-02
. i : 2 ; . : !
; ' | |
. '
¢ $
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

ddx3x
mutated

= wt

ddx3x
mutated

= wt

ddx3x
mutated

= wt

1.01

viability

O
ol

0.0-

1.01

EVP4593

p=8.3e—-01 p=2.0e—-01 p=3.1e-01 p=1.3e-01 p=9.3e-01 p=5.0e-01 p=5.0e-01 p=7.8e—01 p=8.8e-01

EEE,HFEF 1

viability

O
ol

0.0-

1.01

viability

O
ol

0.0-

. ; ‘ ddx3x
. mutated
) : = wt
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
Fedratinib
p=6.2e-01 p=3.1e—-01 p=5.9e-01 p=9.8e-01 p=9.0e-01 p=6.7e-01 p=3.0e-01 p=5.1e-01 p=7.0e-01
s ; ¢ : )
) : . ) 3
. . [ ) ddx3x
’ . mutated
| ¢ E wt
g
L ! s
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
Fingolimod
p=5.3e-01 p=1.5e-01 p=7.3e-01 p=9.4e-01 p=4.4e-01 p=3.6e-01 p=4.0e-01 p=2.4e-V1 p=3.1e-01
‘ s X
: I Elﬁ : EIE : = = !
. hd $
) ) ddx3x
mutated
= wt
. s
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index



Flavopiridol
p=5.0e-01 p=4.9e-01 p=3.5e-01 p=8.6e-01 p=5.2e-01 p=7.2e-01 p=5.2e-01 p=4.8e—-01 p=3.1e-01
1.04 [ ) ! |
: . . * :
8 ¢ s !
> : . !
= . ¢ ‘
E °
© * * o
> . s
0.51 . . . )
. ° s
[ ‘ ¢ s °
' $ : + :
. e : ]
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

Foretinib
[ ] ° [ ] [} ’
p=3.5e-02 p=1.5e-01 p=6.7e-D2 p=2.2e-P1 p:4.5e—3)1 p=6.6e-P1 p=6.4e-01 p=6.7¢e ¢ 1 p=5.6e-01
3 ¢ °
$ . °
10 . E : ° . .
> ' -
IS . .
8 .
>
0.5 :
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
FTI 277 HCI
p=9.7e-01 p:9.5e—b1 p:3.2e—b1 p=3.3e-01 p:8.9e—°01 p=8.7e-01 p=9.1e-01 p=9.0e-01 p=3.9e-01
] []
: : : ' - ! ' °
1.0{ & ! : : —
) ® . ] . . .
> ’ ) . . .
= 4
Q ]
8 .
> .
T
0.01

0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

0.0023 0.0069 0.0206

ddx3x
mutated

= wt

ddx3x
mutated

= wt

ddx3x
mutated

= wt

viability

viability

viability

1.01

O
ol

0.0-

1.01

O
ol

0.0-

1.01

O
ol

0.0-

Fludarabine

p=9.4e-02 p=6.6e—02 p=9.3e-02 p=2.7e-02 p=1.6e-01 p=6.7e-01 p=2.8e-01 p=2.5e—-01 p=3.0e-01

) ; i ! ddx3x
)
. . s mutated
. o ° g Wt
2 ’ * *
[ ]
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
FRAX597
p:8.4e—..01 p:6.4e—pl p:4.7e—:01 p=3.6e—-01 p=9.1e-01 p:7.3e—.01 p=7.9e-01 p=7.9e—-01 p=8.4e1
[ ] ° z °
L : . ° Eﬂ . * .
. . ] : . H
i ddx3x
. . H mutated
I = wt
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
FTI-277 TRIFLUOROACETATE
p=3.5e-01 p=3.7e-01 p=3.2e-01 p:2.6e—b1 p=3.3e-01 p=6.5e—-01 p=5.1e-01 p=6.4e-01 p=6.2e-01
bt de g d
® . [ ) . [ ] ' [ ] ® :' | ' [} [ ]
I . ddx3x
. . mutated
= wt
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index



Galunisertib
p=8.8e-01 p=4.2e-01 p=9.8e-01 p=9.4e-01 p=5.1e-01 p=9.8e-01 p=5.0e-01 p=2.2e-01 p=4.7e-01
] s ] : o :
. [ ]
° 2 ° ® ° s
b [ ] [ ] . !
E [ ]
8
>
0.51
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
GDC-0032
p=5.7e-01 p=5.9e-01 p=4.4e-01 p=7.1e-01 p=6.7e-01 p=5.4e-01 p=5.3e-01 p=6.3e-01 p=5.4e-01
° ] * ] l
1.0{ = . ] .
> ; ¢ . [}
C_U [ ] [}
> ¢ ¢ .

o
ol
[ ]
[ (] 0000080

0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
GDC-0879
p=7.1e-02 p=1.5e-02 p=9.9e-02 p=8.1e-01 p:8.9e—pl p=5.3e-01 p=7.0e-01 p=7.8e—-01 p=3.2e-01
. : . . .
1.0 1
; $ 3 . . : :
! [ M > ° L]
5 : P :
8 .
> s
0.5 |
0.01

0.0023 0.0069 0.0206 0.0617 0.1851

0.5554
concentration index

1.6662

4.9985

14.9954

ddx3x
mutated

= wt

ddx3x
mutated

= wt

ddx3x
mutated

= wt

viability

viability

viability

1.01

o
ol

0.0-

1.01

o
ol

0.0-

1.01

o
ol

0.0-

GANTG61

p:1.8e—pl p=8.6e-01 p=3.0e-V1 p=1.3e-P01 p=1.5e-01 p=9.6e-D3 p=5.4e-02 p=6.2e—01 p=6.8e-01

TR

. 1}
_i_ ddx3x
. mutated
| T N
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
GDC-0152

p=3.6e-01 p=4.0e-01 p=1.8e-P01 p=2.9e-01 p=2.0e-01 p=1.4e-01 p=4.9e-01 p=4.3e-01 p=1.8e-01
° ° ° [

EFEF e

0.0023 0.0069 0.0206 0.0617

e

’ 3
. : P | . ddx3x
: | mutated
¢ . E wt
0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
Gefitinib
: ®
p:4.9e—pl p=8.4e-01 p=6.1e-01 p=8.9e—-01 p=6.8e-01 p=4.6e-P1 p=3.8e-01 p=3.3e-P1 p=3.5e-P1
: P ’
$ : ° ] .
: s . ddx3x
° ° ]
. . s mutated
’ = wt

0.0023 0.0069 0.0206 0.0617 0.1851

0.5554
concentration index

1.6662

4.9985

14.9954



Gemcitabine
p=7.7e-01 p=8.5e-P1 p=6.2e-01 p=7.4e-01 p=7.5e-01 p=9.0e-01 p=7.1e-01 p=9.6e-01 p=9.1e-01
° o ° [ ] 0.
1.0- ° : ! : $ : ° .
' ‘ . = ' . ° '
4? [ ] [ ] °
3 ' . : .
IS : .
>
0.5' . : i .
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

GMX1778

p=3.0e-01 p=9.7e-01 p=7.8e-01 p=9.2e-01 p=9.7e-01 p=9.9e-01 p=8.6e-01 p=8.1e—01 p=7.3e-01

1.01 ¢

viability

o
ol

0.0-

1.01

viability

o
ol

0.0-

0.0023

p=9.4e-01 p=7.0e-01 p=6.8e-01 p=6.9e-01 p=9.7e-01 p=7.2e-01 p=8.4e-01 p=9.9e-01 p=9.4e-01

0.0023

o

0.0069 0.0206

0.0069 0.0206

0.0617

0.0617

0.1851

0.5554

concentration index

GSK-LSD1

0.1851

0.5554

concentration index

1.6662

1.6662

4.9985

4.9985

14.9954

14.9954

ddx3x

mutated

= wt

ddx3x

mutated

= wt

ddx3x

mutated

= wt

viability

viability

viability

1.01

o
ol

0.0-

1.01

o
ol

0.0-

1.01

o
ol

0.0-

GM6001

p=6.3e-01 p=9.4e-01 p=8.0e-01 p=8.8e-01 p=5.2e-01 p=4.7e-01
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p=1.8e-01 p=8.6e—01 p=2.9e-01 p=3.1e-01 p=7.8e-01 p=1.0e-01 p=4.4e-01 p=7.8e—01 p=9.3e-01

0.0023

p=6.7e-01 p=5.5e-01 p=6.6e-P1 p=9.2e-01 p=6.6e-01 p=4.8e-01 p=1.7e-01 p=3.7e-01 p=3.7e-P01

444

0.0023

p=1.4e-01 p=2.0e-01 p=3.0e-01 p=8.2e-02 p=7.8e-01 p=4.0e-01 p=4.1e-02 p=4.2e—-01 p=3.7e-01

|
!
-

0.0023

0.0069

0.0069

0.0069

0.0206 0.0617 0.1851 0.5554
concentration index

RKI-1447

0.0206 0.0617 0.1851 0.5554
concentration index

Ro 31-8220

0.0206 0.0617 0.1851 0.5554
concentration index

1.6662

1.6662

1.6662

4.9985

4.9985

4.9985

14.9954

14.9954

14.9954

ddx3x
mutated

= wt

ddx3x
mutated

= wt

ddx3x
mutated

= wt

viability

viability

viability

1.01

o
ol

0.0-

1.01

o
ol

0.0-

1.01

o
ol

0.0-

Rizatriptan

p:4.1e—’01 p:3.8e—b1 p=4.9e-01 p=4.5e—01 p=4.7e-01 p:3.7e—°01 p=6.3e-01 p=7.1e-01 p=9.9e-01

==

0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662
concentration index

RN486

p=7.1e-01 p=7.5e-P1 p=6.2e-01 p=2.0e-01 p=2.7e-01 p=6.1e-01 p=7.2e-01 p=8.2e—-01 p=9.7e-01

0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662
concentration index

Ro-3306

p=9.2e-01 p:5.0e—:01 p=3.6e-P1 p=3.6e-01 p:3.0e—°01 p:5.2e—b2 p:8.3e—pz p:1.5e—.01 p=4.7e-02

0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662
concentration index

] °
ddx3x
* | mutated
' . E wit
[ ]
]
49985 14.9954
ddx3x
. mutated
= wt
]
49985 14.9954
L] ° ddX3X
mutated
. l E wt

4.9985 14.9954



1.01

viability

O
ol

0.0+

1.01

viability

O
ol

0.0-

1.01

viability

O
ol

0.0-

RO4929097

p=7.5e-01 p=6.9e-P1 p=3.7e-01 p=3.1e-01 p=3.4e-01 p=5.4e-01 p=4.3e-01 p=3.4e-01 p=8.0e-01

0.0023

ot

0.0069 0.0206 0.0617 0.1851 0.5554

concentration index

Roscovitine

1.6662

4.9985

14.9954

p=3.9e-01 p=4.4e-01 p=3.3e-01 p=6.2e-01 p=9.6e-01 p=1.0e+00 p=4.4e-01 p=4.7e—-01 p=9.9e-01

0.0023

p=8.4e-01 p:4.1e—b1 p:7.7e—b1 p=6.9e-01 p=4.5e—-01 p=3.0e-01 p:1.0e—pl p=3.7e—-01 p=5.9e-01

0.0023

bt

s
L1

0.0069 0.0206 0.0617 0.1851 0.5554
concentration index

Ruboxistaurin

0.0069 0.0206 0.0617 0.1851 0.5554
concentration index

1.6662

1.6662

4.9985

4.9985

14.9954

14.9954

ddx3x

mutated

= wt

ddx3x

mutated

= wt

ddx3x

mutated

= wt

1.01

viability

O
ol

0.0-

viability

viability

1.01

O
ol

0.0-

1.01

O
ol

0.0-

Romidepsin

p=5.4e-01 p=4.3e-02 p=2.1e-01 p=7.8e-01 p=5.5e-01 p=3.8e-01 p=4.1e-01 p=4.3e—-01 p=5.8e-01

0.0023

p=7.1le-01 p=2.6e-01 p:1.3e—pl p:2.4e—pl p=3.1le-

e

0.0023

p=8.9e-01 p=9.4e-01 p=6.5e-01 p=9.8e-01 p=8.4e-01 p=8.5e-01 p=8.2e-01 p=2.5e-01 p=3.1le-01

SARRERE RS A

0.0023

0.0069

0.0069

0.0069

0.0206

0.0206

0.0206

0.0617 0.1851 0.5554
concentration index

Rotenone

0.0617 0.1851 0.5554
concentration index

Rucaparib

1

0.0617 0.1851 0.5554
concentration index

1.6662

_+.

1.6662

1.6662

4.9985

4.9985

4.9985

EM

14.9954

01 p=6.4e-01 p=8.3e-01 p=9.4e-01 p=8.9e-01

14.9954

14.9954

ddx3x
mutated

= wt

ddx3x
mutated

= wt

ddx3x
mutated

= wt



Ruxolitinib
p=3.8e-01 p=4.4e-02 p=1.3e-01 p:3.5e—pl p=1.8e-01 p=1.7e—-01 p=7.4e-01 p=3.0e-01 p=5.9e-01
' [ ] . [ ) R
1.0' ; * : . ° .
¢ : ® : E ° [}
. ° d ) ! : . .
2 y ' .
= . . .
g [ ] ' [ J
> . [ ] [ ]
0.5
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
Salubrinal
p=5.4e-01 p=3.3e-01 p=4.3e-02 p=3.6e-01 p=3.6e-01 p=1.5e-V1 p=2.1e-01 p=8.8e-01 p=6.0e-01
s . . '
10 : e ° °
IS o .
C_U ° H d °
> ° ° o
0.5 .
. s
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
Saracatinib
p=3.2e-01 p=9.6e—-01 p=9.4e-01 p=9.9e-01 p=7.7e-01 p=3.0e-01 p=7.4e-01 p=4.2e—-01 p=6.9e-01
. ]
i
1.0{ 1 ! I ! ! . .
: ] : : : ' -
]
> ' : § °
= : '
8 :
> ]
0.5 .
s
0.01

0.0023

0.0069

0.0206

0.0617 0.1851
concentration index

0.5554

1.6662

4.9985

14.9954

ddx3x

mutated

= wt

ddx3x

mutated

= wt

ddx3x

mutated

= wt

viability

viability

viability

1.01

o
ol

0.0-

1.01

o
ol

0.0-

1.01

o
ol

0.0-

Sabutoclax

p=3.7e-01 p=1.3e-01 p=1.2e-01 p=2.1e-01 p=3.2e-02 p=2.5e-01 p=2.4e-01 p=5.4e—-01 p=3.4e-01

5 ; EFE?= 2l i

ddx3x
. ! . g mutated
iR . = wt
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
SANT-2
p=9.9e-01 p=8.5e—-01 p=8.7e-01 p=8.3e-01 p=8.5e-01 p=9.7e-01 p=3.1e-901 p=5.9e-P1 p=7.3e01
. s H s H H . .
E EF ! Eia ! E'a ] EF : . ]
s S : ¢ 3
. s
. s ¢ :
. mutated
= wt
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
SB203580
p=9.9e-01 p=1.0e+00 p=6.6e-01 p=1.0e+00 p=8.7e-01 p=6.4e-01 p=5.7e-01 p=4.9e-P1 p=1.9e-P1
! 3 s ) )
: s . ! ! ' . ‘
: E ! ] [ : )
° ° ]
. . M ddx3x
* : mutated
) . =R

0.0023 0.0069 0.0206 0.0617

0.1851
concentration index

0.5554

1.6662

4.9985

14.9954



SB216763
p=7.6e—01 p=6.9e-01 p=9.5e-01 p=4.7e-01 p=9.1e-01 p=9.3e-01 p=5.3e—01 p=7.1le-01 p=8.6e-0V1
:
)
1.0 : $ I ! ! . ? s
° 0 ¢ ® s :
! . : | ) T :
£ ’ z
-% .
2 .
0.5 :
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
SCH772984
p:9.0e—.01 p=1.9e-01 p=6.8e-01 p=5.2e-01 p=4.0e-01 p=2.5e-01 p=4.5e-01 p=2.8e-01 p=4.1e-01
s
1.0{ 5 : ' '
: : - . i
: . . S
2 I : -
= : !
© s :
>
0.5 . . .
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
SD40.1
p=5.5e-01 p=8.6e—01 p=6.9e-01 p=3.3e-01 p=7.1le-01 p=7.8e-01 p=9.2e-01 p=3.1e—-01 p=5.2e-02
1.01 = : ' ’ : : ‘ . ‘
_ : : ! : P 1 .
= ' s !
> ) . i
0.5 : .
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

ddx3x
mutated

= wt

ddx3x
mutated

= wt

ddx3x
mutated

= wt

1.01

viability

O
ol

0.0-

SB225002

1.01

viability

O
ol

0.0-

1.01

viability

O
ol

0.0-

T

p=7.2e-01 p= 512;; p= 10e+00 p= 78e—‘01 p=7.8e- 01 p=7.3e- 01 p=7.6e-01 p=3.8e-01 p=2.4e-01

. : ddx3x
* : * mutated
. E wt
8
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
SDO07.1
p=2.7e-01 p=7.3e—01 p=9.2e-01 p=4.9e-01 p=6.3e-01 p=7.8e-01 p=6.4e-01 p=5.8e-01 p=6.0e-01
: : i ; -
[ ‘ ] :
. : : ) _!_ ddx3x
’ * ¢ | . . mutated
. ' . ’ =i
! s
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
SD50.1
p=7.2e-01 p=4.3e—-01 p=8.1e-01 p=9.7e-01 p=5.9e-01 p=3.3e-01 p=4.1e-01 p=4.9e-01 p=8.9e-01
) : : i ‘l‘ ddx3x
. ; mutated
. : l : = wt

0.0023 0.0069 0.0206

0.0617

0.1851
concentration index

0.5554

1.6662

4.9985

14.9954



1.01

viability

O
ol

0.0+

1.01

viability

O
ol

0.0-

1.01

viability

O
ol

0.0-

SD52.1

p=7.2e-01 p=4.1e-01 p=6.4e-01 p=6.3e-01 p=6.8e-01 p=6.7e-01 p=5.1e-01 p=6.9e—-01 p=6.6e-01

0.0023

p=9.1e-01 p=8.7e—-01 p=5.1e-01 p=7.0e-01 p=5.5e-01 p=9.2e-01 p=9.5e-01 p=4.9e-01 p=1.7e-01

0.0069

0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

Selisistat

0.0023

p=9.7e-01 p=6.4e—-01 p=9.2e-01 p=3.9e-01 p=4.7e-01 p=3.6e-01 p=4.7e-01 p=8.0e—01 p=9.5e-01

0.0023

0.0069

-

0.0069

0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index

Semagacestat

EFEFE

0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index

ddx3x
mutated

= wt

ddx3x
mutated

= wt

ddx3x
mutated

= wt

viability

viability

viability

1.01

O
ol

0.0-

1.01

O
ol

0.0-

1.01

O
ol

0.0-

Selinexor

p=6.7e-D1 p=4.7e-01 p=7.6e-01 p:5.9e—p1 p=4.4e-01 p=7.2e—01 p=8.3e-01 p=6.9e-01 p=2.4e-01
}

. . .
; ° ; [ ] : L] .
H . ) ! ! !
[ ) ; [ )
' ddx3x
) . ; mutated
. : . i = wt
8 % : ﬂ
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
Selumetinib
p=6.7e-02 p=9.4e—-02 p=6.7e-02 p=6.5e-02 p=1.2e-01 p=1.8e-01 p=2.3e-01 p=2.3e—-01 p=3.5e-01
) 4 : ] * s
. . ’ : . ddx3x
¢ ' . . mutated
. . . | | = wt
[ ) ‘ [ )
* ]
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
Sepantronium Bromide
p=8.4e-01 p=4.9e-01 p=2.3e-01 p=5.4e-01 p=7.8e-01 p=7.9e-01 p=7.6e-01 p=7.5e—-01 p=7.3e-01
. . .
[ ] . .
: : ddx3x
s . ) ' . mutated
! . . = wt
' s
* )

S

0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index

—t



1.01

viability

o
ol

0.0+

0.0023

0.0069

|

0.0206

Serdemetan

; s :
|
$
° [ ]
[ ]
0.0617 0.1851 0.5554 1.6662

concentration index

|
!

4.9985

p=2.9e-01 p=5.2e-01 p=6.8e-01 p=9.2e-01 p=1.4e-01 p=2.0e-01 p=1.7e-01 p=6.5e—-01 p=5.8e-01

14.9954

SGI-1776
p=7.1e-01 p=3.7e—01 p=8.0e-01 p=6.3e-01 p=9.9e-01 p=7.5e-01 p=9.9e-01 p=8.1e—01 p=8.5e-01
: : . : :
)
1.01 = . ! . .
' : ‘ ’ . E I i
X ' ' : |
= =5
> |
0.5 L
i
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
SH-4-54
p=6.6e-01 p=6.8e—01 p=4.3e-01 p=8.7e-P1 p=8.5e-01 p=6.6e-01 p=4.0e-01 p=8.0e—-02 p=2.4e-02
: E
10f = : : : =EHE : :
: : : i . .
° U L !
b °
5 ] .
8 . .
>
0.5 — !
| i
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

ddx3x

mutated

= wt

ddx3x

mutated

= wt

ddx3x

mutated

= wt

viability

viability

viability

1.01

o
ol

0.0-

1.01

o
ol

0.0-

1.01

o
ol

0.0-

SGC 0946

p=3.3e-01 p=6.6e-01 p=5.8e-01 p=6.6e-01 p=9.7e-01 p=9.6e-01 p=5.4e-01 p=9.9e-01 p=9.1e-01

: ; ! : u i :
° L ° .
] s H ¢ .
) ’ : s . ddx3x
. . mutated
* . s E wt
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
SGX-523
p=7.7e-01 p=7.5e-01 p=4.2e-01 p=6.3e-01 p:9.6e—b1 p=8.1e-01 p=8.9e-01 p=7.2e—-01 p=4.3e901
; . : : ) °
: EF Sis SIRS) Sl =l Sl Siele iR ts =i
) ® ) * ° . ° * ’ * :
. ) ) ¥ ddx3x
) mutated
’ = wt
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
Silmitasertib
p=8.8e-01 p=7.3e—01 p=6.9e-01 p=2.4e-01 p=5.1e-01 p=2.5e-02 p=3.7e-01 p=9.7e-01 p=7.0e-01
° '} T EF d EF : $ s | :
. R !
' ' : ' ] ddx3x
’ mutated
t = wt
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index



Siponimod
p=2.1e-01 p=4.7e-01 p=7.5e-01 p=7.7e-01 p:8.1e—.01 p=8.2e-01 p=4.7e—01 p:5.3e—b1 p=/.4e-D1
] ° . . !
Lor -, ; : : =lnnls 1 :
) ] * )
b o °
B o
8 * .
> [ ]
0.5
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

SJ-172550
p=5.5e-01 p=4.1e-01 p=7.7e-01 p=8.8e-01 p=7.6e-V1 p=5.0e-01 p=9.2e-01 p=4.7e—-01 p=3.6e-01
H ; ] g
1.0' 3 $ $ 3 * : °
: i T
2 3 ‘ l s .
= ¢
= ‘ ;
> : [ )
0.5
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

SMI-4a
p=3.1e-01 p=3.2e-01 p=2.7e-01 p=6.7e-02 p=3.2e-01 p=1.9e-01 p=2.4e-P1 p=7.9e-02 p=5.4e-01
o ° ° l
. L] ! ! ]
1.0 = : : : : . . . .
. : : o
2 ' ’ .
E
8 *
>
0.5
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

ddx3x
mutated

= wt

ddx3x
mutated

= wt

ddx3x
mutated

= wt

1.01

viability

O
ol

0.0-

1.01

viability

O
ol

0.0-

1.01

viability

O
ol

0.0-

SirReal2

p=3.5e-01 p=5.9e-01 p=2.0e-V1 p:3.4e—;01 p=8.3e-01 p=3.3e-V1 p=6.8e-91 p=5.7e-P1 p=6.0e-P1

P

. . ! ddx3x
. . ° mutated
* . = wt
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 49985 14.9954

concentration index

SKI I

p=5.3e-01 p=3.1e-01 p=6.1e-D1 p=3.3e-D1 p=2.6e-01 p=5.1e-01 p=8.4e-D1 p=1.5e-D1 p=9.6e—02
[ ] L] ; [

EFE!HE‘HEIH il |

. ddx3x
mutated
* ’ = wt
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
SNS-032
p=3.2e-01 p=4.1e-01 p=2.8e-P1 p=9.6e-01 p=2.2e-02 p=1.0e+00 p=3.7e-01 p=2.7e-01 p=1.6e-01
! ! .
¥ . [ ddx3x
. ¢ mutated
= wt

14.9954

O COCOEDEINENIED GO GED GNID ¢ID O O -GN 0 W@

1.6662  4.9985

0.0617 0.1851 0.5554
concentration index

0.0023 0.0069 0.0206



viability

O
ol

0.0+

0.0023

viability

O
ol

0.0-

0.0023

1.01

viability

O
ol

0.0-

0.0023

0.0069

0.0069

0.0069

0.0206

0.0206

0.0206

Sodium dichloroacetate

T

0.0617 0.1851
concentration index

Sotrastaurin

1
L1

0.0617 0.1851
concentration index

SP600125

: — HH =
0.0617 0.1851 0.5554

concentration index

p=5.6e-01 p=3.2e—01 p=4.3e-01 p=8.8e-01 p=9.3e-01 p=3.1e-01

-

0.5554

0.5554

1.6662

1.6662

1.6662

4.9985

4.9985

4.9985

14.9954

14.9954

p=9.0e-01 p=9.8e-01 p=9.3e-01

14.9954

p=3.8e-01 p=6.5e—-01 p=5.6e-01 p=9.9e-01 p=1.8e-01 p=4.2e-01 p=5.4e-01 p=9.2e-01 p=6.6e-01

p=3.1e-01 p=6.2e—-01 p=7.6e-01 p=7.2e-01 p=3.8e-01 p=9.3e-01 p=5.3e-01 p=6.4e-01 p=2.6e-P1

ddx3x
mutated

= wt

ddx3x
mutated

= wt

ddx3x
mutated

= wt

viability

viability

viability

1.01

O
ol

0.0-

1.01

O
ol

0.0-

1.01

O
ol

0.0-

Sorafenib

p=8.1e-02 p=1.0e-01 p:7.3e—b2 p=4.8e-02 p=5.2e-02 p=4.4e-02 p=1.9e-01 p=1.1e-02 p=2.8

. :.;E!E; = SR =P :

) ' : : dax3x
’ . mutated
. = wt
0.0023 0.0069 0.0206 0.0617 0.1851 05554 1.6662 4.9985 14.9954

concentration index

SP2509

p=1.3e-01 p=4.3e—-01 p=3.3e-01 p=5.0e-01 p=9.3e-01 p=9.5e-01 p=8.3e-01 p=8.0e—-01 p=4.5e-01

: : : : = HH =i ; :
[} . ¢ ¢ : °
‘ . : . ddx3x
. s . . mutated
! = wt
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
Spebrutinib
p=8.2e—01 p=9.5e-01 p:3.8e—b1 p=4.5e-01 p=2.9e-01 p=4.2e-01 p=4.4e-01 p=2.7e-D1 p=5.1e-01
; ) ¥
i $ ' $ . | | . .
. - | :
. I E . . . ddx3x
. . . : mutated
* . = wt

0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

0.0023 0.0069 0.0206



1.01

viability

O
ol

0.0+

1.01

viability

O
ol

0.0-

1.01

viability

O
ol

0.0-

SRPIN340

p:3.8e—'01 p:7.6e—b1 p:8.4e—°01 p=2.2e-01 p:8.1e—:01 p=5.5e-01 p=9.4e-01 p=9.2e-01 p=9.1e-01

0.0023

0.0069

0.0206

0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

STF-118804

p=2.7e-01 p=4.1e—-01 p=9.5e-01 p=2.6e-01 p=6.6e-01 p=5.3e-01 p=7.5e-01 p=4.8e—01 p=3.8e-01

oo}

0.0023

0.0069

0.0206

0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index

Swainsonine

p=3.6e-01 p=3.9e-01 p=5.4e-01 p=3.8e-01 p=1.8e-01 p=2.8e-01 p=5.5e-01 p=1.3e-01 p=9.4e-01

0.0023

0.0069

0.0206

0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index

ddx3x

mutated

= wt

ddx3x

mutated

= wt

ddx3x

mutated

= wt

viability

viability

viability

1.01

O
ol

0.0-

1.01

O
ol

0.0-

1.01

O
ol

0.0-

Staurosporine

p=2.8e-, 01 p=5. 5e—£)1 p=2.0e 2 p=1.2e-92 p=5.0e-P2 p=8.9e-01 p=5.3e-01 p=6.8e-01 p=3.6e-01

ez

ddx3x
* mutated
= wt
. : ;
S NERE S
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
Sunitinib
p=6.9e-01 p:5.7e—;01 p=6.3e-01 p=2.8e-01 p=8.5e-01 p:9.5e—b1 p=4.7e-D1 p=3.3e-01 p=9.7e-01
- T ' ddx3x
* . . mutated
. . + =R
hd l °
- I
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
TAEG84
p=5.7e-01 p=5.1e-01 p=4.9e-02 p=1.4e-01 p:8.4e—=01 p=6.9e-01 p=9.0e-01 p=7.6e—01 p=2.0e-01
s : ° s )
! [ ] ° ° s [ ]
: ; H . : Ea s s
‘ s : l T
] R °
y f ddx3x
} mutated
. * * 1wt

0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index



Talazoparib

2 :
B
8
>
0.5
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
TCS PIM-11
p:8.6e—£31 p=9.5e-01 p:8.1e—i)1 p=9.9e-01 p=3.8e-01 p=9.6e-01 p=6.8e-01 p=7.8e-01 p=9.5e-01
. : b [} ) ° § ’
1.01 5 ; : ! : T : .
¢ * . Ea s ° . :
¢ ] * ° ] ° o
= ) :
B
C_U ° L4 °
>
0.5 .
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
TGO003
p=4.2e-01 p=7.7e—01 p=3.3e-02 p=3.2e-01 p=8.4e-01 p=8.3e-01 p=5.0e-01 p=4.5e-01 p=6.9e-01
. | $ : *
1.01 : ; 1 ; : ‘ ! .
' ; . - E
. s 4 : .
z ' - : .
IS ’ )
8
> °
0.5 :
0.01

0.0617 0.1851
concentration index

0.0023 0.0069 0.0206

p=4.2e-01 p=6.5e-01 p=1.2e-01 p=2.7e-V1 p=8.0e-01 p:8.6e—’02

0.5554

1.6662

4.9985

14.9954

p:2.1e—b1 p=9.5e-01 p=2.5e-01

ddx3x

mutated

= wt

ddx3x

mutated

= wt

ddx3x

mutated

= wt

viability

viability

viability

1.01

O
ol

0.0-

1.01

O
ol

0.0-

1.01

O
ol

0.0-

Tandutinib

p=4.7e-01 p=7.0e-01 p=9.9e-01 p=5.5e-01 p=3.8e-01 p=3.6e-01 p=2.8e-01 p=4.9e-01 p=9.1e-01

—
_EH_.

0.0023 0.0069 0.0206

-

0.0617 0.1851 0.5554
concentration index

Temsirolimus

1.6662

4.9985

14.9954

p=9.6e-01 p=7.7e-01 p=9.5e-01 p=4.1e-01 p=3.0e-01 p=1.4e-01 p=1.1e-01 p=5.3e-02 p=4.0e-02
[ ]

0.0023 0.0069 0.0206

0.0617 0.1851 0.5554
concentration index

TG100-115

1.6662

4.9985

14.9954

p=9.3e-01 p=3.4e-01 p=8.0e-01 p=1.0e+00 p=1.5e-01 p=3.4e-01 p=8.2e-02 p=1.1e-01 p=2.8e-01

0.0023 0.0069 0.0206

0.0617 0.1851 0.5554
concentration index

1.6662

4.9985

14.9954

ddx3x
mutated

= wt

ddx3x
mutated

= wt

ddx3x
mutated

= wt



TG101209
p=1.6e-01 p=3.2e—01 p=2.1e-01 p=4.4e-01 p=2.0e-01 p=3.2e-01 p=4.3e-01 p=3.9e-01 p=5.0e-01
ol o EF f EF e .
] o ¢ ° :
* ° ° ! ) °
> ° : ° " °
= i
8 .
> ¢ .
0.5 s s ;
:
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
Thalidomide
p=9.7e-01 p=5.6e-01 p=9.4e-01 p=6.3e-01 p=9.9e-01 p=9.7e-01 p=9.7e-01 p=/.7e-01 p:9.0e—b1
. i : : ° °
1.0- : . ' . : . : :
. : ) T b ' Ea ¢ ¢ : °
. s . $ d . . : )
P ) . : .
= S
8 .
> [
0.5 .
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
Thiostrepton
p=4.3e-01 p=3.4e—-01 p=5.3e-02 p=6.4e-01 p=3.9e-01 p=4.4e-01 p=5.6e-01 p=6.8e—01 p=3.7e-01
L ® N .
o cp o o s i
s . s .
: L : ! '
2 - :
z :
8 .
S |t ] . "
0.5 . . s . !
° 8 s
. ; $ *
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

ddx3x
mutated

= wt

ddx3x
mutated

= wt

ddx3x

mutated

= wt

viability

viability

viability

1.01

O
ol

0.0-

1.01

O
ol

0.0-

1.01

O
ol

0.0-

TGX-221

p=3.8e—-02 p=2.7e-01 p=2.2e-01 p=2.3e-P2 p=1.8e-01 p=4.0e-01 p=5.4e-01 p=5.5e-01 p=6.9e—01

0.0023

0.0069

0.0206

s SIEe= =l
' ! ) ddx3x
3 . mutated
= wt
0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

Thapsigargin

]
p=7.7e—01 p=5.5e-01 p=4.5e-01 p=4.7e-01 p:5.0e—'31 p:.4.5e 1 p=7.1e-01 p=8.1e-P1 p=/.2e9P1
; i ; : : :
. . . | . _'_ ‘
. . .
| ‘ i
s
H ! : . ; ddx3x
E | mutated
. . | = wt
[ ]
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
THZ1
p=9.7e-01 p=9.9e-01 p=4.6e-01 p=8.1e-01 p=1.7e-01 p=2.1e-01 p=8.5e-01 p=9.0e-01 p=7.9e-01
! [ J
t E'E . S .
: : v ddx3x
: * mutated
. . . E wt
[ ] M s
: ' ' :
[ : .
! ; :
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index



1.01

viability

O
ol

0.0+

1.01

viability

O
ol

0.0-

1.01

viability

O
ol

0.0-

Tideglusib

p=2.3e-01 p=9.9e-01 p=9.6e-01 p=9.5e-01 p=6.7e-01 p=7.2e-01 p=8.5e-01 p=6.8e—01 p=9.0e-01

0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

0.0023 0.0069 0.0206

TMP269

p=5.8e-01 p=8.4e-01 p=4.6e-01 p=6.5e-01 p=6.5e-01 p=2.5e-01 p=1.5e-01 p=5.1e-01 p:9.1e—pl

P

0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

0.0023 0.0069 0.0206

Torkinib

p=9.4e-01 p=1.6e-01 p=6.3e-01 p=8.5e-01 p=6.4e-01 p=8.6e-01 p=4.5e-01 p=3.2e-01 p=3.4e-01

0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

0.0023 0.0069 0.0206

ddx3x
mutated

= wt

ddx3x
mutated

= wt

ddx3x
mutated

= wt

1.01

viability

O
ol

0.0-

1.01

viability

O
ol

0.0-

1.01

viability

O
ol

0.0-

Tipifarnib

p=4.7e-01 p=6.3e-01 p=7.2e-01 p:3.4e—pl p=5.4e-01 p=5.6e—-01 p=7.3e-01 p=1.5e-01 p=4.3e-01

TR

0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

0.0023 0.0069 0.0206

Tofacitinib

p=2.4e-01 p=3.4e—-01 p=4.7e-01 p=3.0e-01 p=3.9e-01 p=5.1e-02 p=2.3e-01 p=7.2e—-01 p=8.3e-01

! : . - - .

0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

0.0023 0.0069 0.0206

Tozasertib

p:6.3e—£)1 p=7.3e-01 p=9.4e-01 p=9.0e-01 p=9.4e-01 p=9.4e-01 p=7.3e-01 p=9.3e 01 p=8.2e-01

[ ] s : o
: : E H : | °
' : . I : : .
. ]
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

ddx3x
mutated

= wt

ddx3x
mutated

= wt

ddx3x
mutated

= wt



P2 p=5.2e-01 p=2.9e-01 p=3.1e-01 p=6.8e-01

TP-0903
p=3.3e-D1 p=4.8e-01 p=6.9e-P1 p=9.6e-P1 p=7.7e~
[ ] o '

1.0{ =3 : ’ ‘
z ) .
E [ )
s
>

0.5

0.0-

0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index

TW-37

p=3.8e-01 p=6.6e—01 p=8.9e-01 p=6.0e-01 p=9.7e-

01 p=6.5e-01 p:8.8e—pl p=9.9e—1 p=6.7e—01

viability

O
ol

0.0-

0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index

UNCO0638

p=8.3e-01 p=4.9e-01 p=8.7e-01 p=6.4e-01 p=7.1le-01 p=5.9e-01 p=6.2e-01 p=7.8e—01 p=6.2e-01

viability

O
ol

0.0-

0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

a

ddx3x

mutated

= wt

ddx3x

mutated

= wt

ddx3x
mutated

= wt

viability

O
ol

viability

O
ol

viability

O
ol

0.0069

0.0069

0.0069

Trametinib

concentration index

UMI-77

concentration index

UNC1215

concentration index

p=4.6e-01 p=5.3e-01 p=4.3e-01 p=4.4e-01 p=3.8e-01 p=5.0e-01 p=5.4e-01 p=4.5e-01 p=4.9e-01

- ddx3x
mutated
l = wt

4.9985 14.9954

p=3.2e-01 p:2.1e—p1 p=4.0e-01 p=8.0e-01 p=7.3e-01 p=9.1e-01 p=7.8e-01 p=4.3e-01 p=4.2e-01

befoted

. ddx3x

mutated

. = wt

4.9985 14.9954

p=3.9e-01 p=8.7e—-01 p=7.9e-01 p=4.0e-01 p=5.7e-01 p:8.4e—°01 p=7.7e-01 p=6.6e-P1 p=6.4e-P1

frd-ted

¢ ddx3x

$ mutated

= wt

4.9985 14.9954



UNC669

1.01 —o

—

p=4.9e-01 p=8.7e-01 p=7.2e-01 p=5.4e-01 p=5.5e-01 p=7.6e-01 p=7.3e-01 p=6.3e-01 p=6.0e-P1

2 ) . . e ddx3x
= ) . . mutated
S . = wt
0.5 .
0.0+
0.0023 0.0069 0.0206 0.0617 0.1851 05554 1.6662 4.9985 14.9954
concentration index
VAS2870
p=5.6e-01 p=7.7e—01 p=4.5e-01 p=5.4e-01 p=8.4e-01 p=9.4e-01 p=5.9e-01 p=8.1e—-01 p=6.0e-01
Loy : ' ; s S i 1 :
o R I .
. : H
2 * . 8 . ddx3x
3 . . . mutated
'S . = wt
0.5 : .
0.0+
0.0023 0.0069 0.0206 0.0617 0.1851 05554 1.6662 4.9985 14.9954
concentration index
VE-821
p=4.1e-01 p=5.1e-01 p=4.0e-01 p=4.2e-01 p:4.8e—'01 p=1.0e-01 p=6.5e-02 p=3.9¢e Y 2 p=2.4e-01
‘ [ J
[ ) ° '
. . ° : ¢ ° s ° ' : ° R
* ’ . E '
2 ) . L ddx3x
% . s . mutated
g : . E wt
0.5 y .
0.0+

0.0617 0.1851 0.5554 1.6662 4.9985

concentration index

0.0023 0.0069 0.0206

14.9954

1.01

viability

O
ol

viability

viability

0.0-

1.01

O
ol

0.0-

1.01

O
ol

0.0-

Vandetanib

p=9.9e-01 p=2.8e-P1 p=4.8e-01 p=9.7e-01 p=4.8e-01 p=7.8e-01 p=8.8e91 p=7.5e-P1 p=1.1e-01

' . ddx3x
mutated
* 1 = wt
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
Vatalanib
p=4.7e-01 p=7.4e—-01 p=1.4e-01 p=8.7e-01 p=7.1le-01 p=8.5e-01 p=4.3e-01 p=1.0e+00 p=3.8e-01
Z : : : . : ; ' '
l [} . Ps ° : 1 :
° s ° *
. : : .
. T : ddx3x
{ . mutated
: = wt
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
Veliparib
p=6.3e-P1 p=3.7e-01 p=9.0e-01 p=8.9e-01 p=8.1e-01 p=7.5e-01 p=6.8e-01 p=7.0e-01 p=2.6e-01
° o E E * °
; ; : : = HH - ' 1
: . ' t )
' : ddx3x
) mutated
= wt
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index



Vemurafenib

p=3.4e-01 p=2.8e-01 p=8.5e-02 p=6.2e-01 p:1.9e—pl p=2.4e-01 p=1.2e-02 p=2.1e-01 p=4.4e-01

£ ) . ;
= . : .
2 .
0.5
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
VER155008
p=2.9e-01 p:4.4e—b1 p=3.3e—-01 p=6.6e—01 p=4.0e-01 p=9.4e-01 p=5.1e-P1 p=9.4e-01 p=4.6e-01
1.0- $ : : f HH = s .
[ ) ¢
: . .
= : T :
E i °
8 .
> [ ]
0.5
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
Vinorelbine
p=1.7e—01 p=5.1e-01 p=1.0e+00 p=6.5e-01 p=9.3e-01 p=8.0e-01 p=5.5e-01 p=4.7e-01 p=6.1e-01
1.0; f . ! 3, : . *
2 5 : ' : :
IS . !
8 .
> | . .
05 o L ! °
! I L) ° :
0.01

0.0023

0.0069

0.0206

0.0617

0.1851
concentration index

0.5554

1.6662

4.9985

14.9954

ddx3x

mutated

= wt

ddx3x

mutated

= wt

ddx3x

mutated

= wt

viability

viability

viability

1.01

O
ol

0.0-

1.01

O
ol

0.0-

1.01

O
ol

0.0-

Venetoclax

p=6.9e-02 p=4.5e—-01 p=3.5e-01 p=1.8e-01 p=8.0e-01 p=9.9e-01 p=9.2e-01 p=8.3e—-01 p=7.1e-01

] ddx3x
. ; mutated
8 = wt
) : ; : ® °
® ] ; °
) . . . H H
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 49985 14.9954
concentration index
Verdinexor
p=5.9e-01 p:8.8e—pl p=7.5e-01 p=7.6e-01 p:8.5e—:01 p=7.8e-01 p=6.3e-01 p=2.3e—-01 p=3.6e-01
° . hd []
. . : ° °
| ° L4 ' : 3
L ) ! .
° ' ° L] * ddX3X
¢ ’ ° mutated
. = wt
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 49985 14.9954
concentration index
Vismodegib
p=1.1le-01 p:7.3e—:02 p=4.9e-01 p:4.1e—<:01 p:6.0e—b1 p=9.3e-01 p=8.7e-01 p=5.2e-01 p=1.3e-V1
° o ° ! 5
. N ! ! ° : s L !
. : ‘ [ ] [ ) PY
. . ) s
g . ddx3x
° ° mutated
= wt
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 49985 14.9954

concentration index



1.01

viability

O
ol

0.0+

1.01

viability

O
ol

0.0-

1.01

viability

O
ol

0.0-

VO-Ohpic

p=9.0e-01 p=3.6e—-01 p=3.3e-01 p=5.7e-01 p=7.1e-01 p=2.9e-01 p=4.7e-01 p=2.6e—-01 p=2.6e-02

0.0023

p=4.6e—-01 p=9.4e-01 p=6.4e-01 p=9.0e-01 p=1.9e-01 p=7.8e-01 p=6.8e-01 p=7.0e-01 p=3.2e-01

0.0023

~

0.0069

0.0069

0.0206

0.0206

= = . ’

0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

VU 0155069

0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

Weel Inhibitor

p=7.3e-02 p=6.3e—01 p=7.3e-01 p=9.7e-01 p=4.6e-01 p=1.7e-01 p=5.9e-01 p=4.9e-01 p=1.9e-01

0.0023

0.0069

0.0206

0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

ddx3x

mutated

= wt

ddx3x

mutated

= wt

ddx3x

mutated

= wt

1.01

viability

O
ol

0.0-

viability

viability

1.01

O
ol

0.0-

1.01

O
ol

0.0-

p=1.2e-01 p=1.6e-01 p=1.0e

0.0023

0.0069

\Vorinostat

—01 p=2.2e-01 p=3.6e-01 p=8.6e-01 p=6.7e-01 p=7.6e-01 p=6.8e-01

0.0206

0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

VX-745

p=4.7e-01 p=7.2e-01 p=8.6e-01 p=3.2e-01 p=9.8e-01 p=8.8e-01 p=7.7e-01 p=2.8e-01 p=7.0eP1

0.0023

p=1.2e-01 p=1.1e-01 p=1.2e-01 p=2.0e-01 p:1.7e—pl p=2.9e D1 p:7.4e—b1 p=9.1le-1 p=5.5e-P1
° d s .

0.0023

0.0069

0.0069

0.0206

0.0206

0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

WH-4-023

0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

ddx3x
mutated

= wt

ddx3x
mutated

= wt

ddx3x
mutated

= wt



WH17.1
p=2.2e-01 p=9.9e-01 p=9.2e-01 p=6.6e-01 p=9.5e-01 p=7.1e-01 p=9.0e-01 p=1.6e—-01 p=6.4e-01
1.0{ : ; ; : :
= ! . : ; . ‘ :
> . ’ )
= ° I :
csu .
0.5 . . i
'
$
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

Wnt-C59
p=6.4e-01 p=4.5e-01 p=3.7e-P1 p=4.1e-01 p=9.3e-01 p=5.2e-01 p=3.7e-01 p=9.5e-01 p=3.6e-01
1.0 =3 E|5 $ E'E ! Ela : EIE — E'E . . .
s ’ : ! * .
2 . )
s :
8 .
> .
0.51 .
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
XAV-939
p=1.4e-P1 p=7.6e-02 p:1.4e—pl p=4.8e-02 p=2.5e-01 p=5.7e-01 p=8.2e-01 p=7.1e-01 p=5.7e-02
. ] | . s .
LO1 = : : ! . : . .
. 4 [} H s . :
[ ] . . ' [ ] |
_'? . L4 °
E ° . ° 0
8
> . y
0.5
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

ddx3x
mutated

= wt

ddx3x
mutated

= wt

ddx3x
mutated

= wt

1.01

viability

O
ol

0.0-

viability

viability

1.01

O
ol

0.0-

1.01

O
ol

0.0-

WIKI14

p=7.3e-01 p=8.4e-01 p=6.9e-01 p=6.7e-01 p=8.8e-V1 p=8.2e-P1 p=8.8e-01 p:8.0e—pl p=6.8e-01

Tt

T

. . ddx3x
. . ) : . ) mutated
. = wt
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
WZ811
p=9.3e-01 p=7.4e—-01 p=8.7e-01 p=4.3e-01 p=5.8e-01 p=8.8e-01 p=6.1e-01 p=8.0e—-01 p=5.4e-01
° : { ] T : : : ! ]
. s
] s ® H g g °
[ ] o [ )
’ H . ddx3x
* 3 . mutated
: ) =
0
° L4 ;
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
XMD8-92
p=3.9e-01 p=5.1e-01 p=4.5e-01 p=6.0e-01 p=9.1e-01 p=7.7e-01 p=1.0e+00 p=2.5e—-01 p=6.0e-01
° [ ] : (] [ ) H
: " : ; g ! .
: y ) . ddx3x
' mutated
: E wt

0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

0.0023 0.0069 0.0206



1.01

viability

O
ol

0.0+

z—-LVSR-fmk

p=3.5e-01 p=8.7e—-01 p=2.2e-01 p=9.0e-01 p=7.5e-01 p=6.2e-01 p=8.9e-01 p=9.6e—-01 p=4.6e-P1

1.01

viability

O
ol

0.0-

1.01

viability

O
ol

0.0-

S e

0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

0.0023 0.0069 0.0206

Zebularine

p=3.3e-01 p=5.0e-01 p=3.0e-01 p=7.7e-01 p=5.8e-01 p=6.7e-01 p=9.8e-01 p=6.0e—-01 p=9.7e-01

° ]
. ' . . ; : .
] s R : . []
] M ' s ° E ] .
$ $ * ‘ : .
° ] . .
. ° .
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

ZM 447439

p=6.6e-01 p=7.4e—-01 p=8.3e-01 p=3.5e-01 p=9.3e-01 p=6.8e-01 p=1.1e-01 p=8.0e—-01 p=3.8e-01

bbb

R

o

0.0617 0.1851 0.5554 1.6662 4.9985 14.9954

concentration index

0.0023 0.0069 0.0206

ddx3x
mutated

= wt

ddx3x
mutated

= wt

ddx3x
mutated

= wt

229324237

p=7.3e-02 p=3.5e-01 p:3.9e—b1 p=7.1e-02 p=1.7e-01 p=1.3e—01 p=3.0e-02 p=8.7e-01 p=2.0e-02
' [ )
1.0- ! I | o HH E|5 : E‘ﬂ
: $ s . 7 T s
2z . :
E
8
> . :
0.5 .
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
ZM 336372
p=6.8e-02 p=3.7e-01 p=6.7e-02 p=7.2e-02 p=1.4e-01 p=1.4e-01 p=2.0e-01 p=1.4e-01 p=1.8e-01
8 H . :
: l
1.0 - : : ! ' ! ! :
s . s : . . *
2 ' : '
= : -
® ) . .
> [ ]
0.5
0.01
0.0023 0.0069 0.0206 0.0617 0.1851 0.5554 1.6662 4.9985 14.9954
concentration index
LSTKA74
p=7.7e-01 p=6.0e—01 p=8.4e-01 p=6.5e-01 p=6.1e-01 p=4.0e-01 p=5.1e-01 p=2.9e-01 p=6.4e-01
[ ] . O; [ ] ®
1.01 = E|5 : . . . .
' ‘ . .
> * . o ]
= '
8 .
> [ ] [
0.5 : .
0.01

0.0023

0.0069

0.0206

0.0617 0.1851
concentration index

0.5554

1.6662

4.9985 14.9954

ddx3x

mutated

= wt

ddx3x

mutated

= wt

ddx3x

mutated

= wt



